A & R @ =

£ A H 30 £ 5 H 17 B 4HHI9E3DS

A # & PR FCALET %1520 20138 =

I 5 & 5 -4

I % 4 SIRAREEFBEERRBUETSE

I = & P #CALET 5| ZAH A

FE i & (Brid) 3,248,640 FH  As#EmmiEs @®x 3,008,000 M

B 16 I IR % (Bi) 2,851,200 FH  Asmwme&ids @i 2,640,000 H

FEEHE(HBA) 2,862,000 H #H&£%E (Hik) 2,650,000 M
*EA A W & ®HE &

BINESIE #Aeit 2, 650, 000 [FF#LirTE

HARt EMESHES 2, 665, 000

HR&# REHET 2,760, 000

HARH R 2,770, 000

MEHESR HRXsit 2,950, 000

EEEAFLERICI007 DSICHHL T HEEZME L - EEA IR EHRA L
DEHAA IR DMEETH D,




